FESTIPE AL
—. il (AR Oct. 23, 2023)
L. [41-5] BENLAZ B X oA ek Eich

0
Plz) = 0, ) T <
1-(1+z)e ™ x>0

KX B RAL, HETE P(X < 1) fil P(X > 2).
. [42-7] 4 X R ECh

3
o= S
(1) RHEHC e BIMA.
(2) 3k P(-1< X <0.5) .
(3) kK X Wya-tie%h F(x).
3. [126-4] WRENAS B X A% RECH
3,.2
o= {5 S

ok E(X), E(X?), E(X7?).
4. [130-3] IhitLAL R X BIRMSECH X 938, K P(X > /VAR(X)).

5. (489 & Xy, Xo, X3 /& 3 MHiHUESR, H X1 ~ N(0,1), Xo ~ N(0,2%), X3 ~ N(0,3%), pj = P(-2 <

Xj S 2)7 ] = 172737 ﬁEH)q p1 > p2 > ps.
6. [46-1] BRELAER X ZEXH) (1,6) EARMIIEISE, KRR ¢ + Xt + 1 = 0 1 SLEURIMHEE.

D)
A v

— s
1. [41-6] IEFENLAS B X B9 sk Ech

&

0, r<—1
F(z) =< a+barcsinz, —-1<z<1
1, r>1
(1) % a,b BTN F(r) HIESERA
(2) 5k P (1X] < 3).
(3) 3K X MR %L
2. [126-5] WREHLAS B X % B R ECHh

Xt X AHE ST E A 4 K, 1Y FORMEERT § MiREL K
(1) X MseAis E(X) .

(2) Y e B(Y)
1

3. [130-5] % X ~ N (0,0%) MBEEREL K E(1X]) K VAR(|X]).
4. [47-3] WK THLEH FERF R TR ] X ~ e(1/6) (FRAZ: ZNEF).

(1) AER—HOX R TR, 3K 7 /N2 BB SE T H AR
(2) H—HXEFRE, A 3 A/, SKABLE 7 /N 58 T LT

5. [48-10] BHE N _FHEFrR ] X RAMIEZSSME N (50,100) (FA07: 434h) H. 8 i R3E
(1) SR REAE—/ N Py B35 AR BRI 2E;




(2) emfbR b7 NKI &, B 7 5 30 2r, SRkfth 8 fRER] TARRAIAIHRR;
(3) —J 5 ATAEH, fbdg KA L 7 fOAZ N &, SK—J AR IR BRI

6. [46-2] BEHLAE R X 1020 KLl SR el A — SRR 5 A IRt 1) 58— (2307 8 21 J5 SR FFAYINHR) (B0 704),
X 1A R

0, <0
FX(I) = {1 _ 6—0.437 >0

e (DP(SEFERIRI R Z 3 4341); (2)P (SR 220 4 435h); (3)P(ERFTIE] 3 4rEh 2 4 435h); (4)P (58 RfH[H]
Ta8F 2.5 738h); (5)X HYBEREL f () -

7. [47-4] WS Y RASHEON 1 EREUME. K P(Y <3 1Y > 2).

8. [47-5] WHEHLAS B X M9BIERECH f(z) = Ae= ™+, —00 < < +oo . FlJH A B R TR A
ZH A WEUE.

9. [48-8] WRENLAZE R X R N (—1,16) . fEBIARUE ISR R EER TR (1)P(X < 3); (2)P(X > -3);
(3)P(X < =5); (4)P(-5 < X < 2); (5)P(|X]| < 2); (6) HiE a 15 P(X <a)=0.95.




